° 0.6y u=y, dv=e"""%dy 5 0.6y75 s 0 6y 26 —3 25 —0.6y15
—o. =Tu. = s _[_5b —0.6y _ _ b6 -0 _ _ 2 —3 25 —0.
2 ./l.‘: ve dy du = dy u:—%e_u-sw - [ Fye ]u 0 ( g€ }dy_ E E] [E! ]0
-1

BT B2 -

25 -3 _25_-3_, 35 _ 25 _ 100 —
)=—Fe —Fe t+F [

_Te

: 1 B 1 _ 4 B
"y —4y—12 (y—6)(y+2) y—6 y+2

= 1=A(y+2)+B(y—6). Lettingy=—2 = B=

. 1 1/8 —1/8

y—6 y+2
sin(Int) .
7. Let w = Int, du = dt/¢. Then Tdt: sinudu = —cosu+ C = —cos(lnt) + C.

8. Letw = /e — 1, sothat u® = e — 1, 2udu = e de, and e = u* 4+ 1. Then

1 2udu 1 _1 —
f\/e_— x_fuug—i—l fuz_'_ldu—Qtan u4+C =2tan  ve* —1+4+C.

17. Integrate by parts with u = x, dv = secx tanzdr = du = dr, v = secx:

f:r:secx tan:rd:r=:csec:r—fsc{::r:d:r:Emsccx‘—lnbec:r—l—tan:d—f—(:‘.
22. Let = = +/%, so that z* = ¢ and 2z dz = dt. Then

-, .
fte"rdf Jr:r: (2 dx) = Jr2x3e"‘ dx vi=2w,  dvi=e dz’]

dui =6z dz v =€

I = Bx? dvus = e” dx
_ 2£3£= _ ﬁx'zez da ] ; 2 s
f dus = 12zxdx vy = €”

= 253%™ — [ﬁx f 122" dx) ug =12z, dvg =e” dm’}

duy = 12dx vy = €”
= 273%™ — Bxle® + (12:.::\9z — f 12&% dx) = 2z%e® — Bx2e® + 12xe® — 12 + C

= 2¢%(a® — 32> + 62— 6) +C = 2eV* (t /I — 3t + 67— 6) +C

27. f:"z cos’ x sin 2z dr = f:ﬂ cos® x (2sinz cosz) dr = j:rﬁ 2cos* z sinzdr = [—% cos” :c'] ;’,2 = E

28. Letu = J=. Thenz = v*, do =3u’du =

7
fﬁ+1 _f”+13udu—Sf(u’+2u+2+i)du
Jr—1 u—1 u—1

=¥ +3u +6utblnju—1|+C=2+3*+6Jz+6In|Jzr—1|+C

4, /mm—fdlejm L {“="”"= dv = dz/a”, ]
1 x

t—oo f;, x? du =dz/z v=-—1/(327)

Inz f 1, _Int 1)z 1
= Jlim =33 3 W= im | —3E TOT =4 9t3 Qt3

— 1 __ 1
=0+0+3=3

—%anad



4

]. -
45. f Ea’r- lim nrdr_ lim [2\”_1119:—4\/_}

t—0+ N~ t—0+
= lim [(2-21n4—4-2)—(2v’£1nt—4v’§) Z (4ln4—8)—(0—0)=4In4—§
t—0
1 1
() Letu=Ilnz, dv=—4dr = d'u——dz ,v =2,/ Then
V/_
flmdx_zflno:—Q 9 o Vrimr—avz4C
V{’_
2Int 5 ., 2/t
() hm (Q\flnf]— lim +t—1f’ =tl_1‘1'§1+w—tlu;1+( 4\/-‘]—0

b—a 4-2 1
e e e T

(a) Tio = ﬁ{m) +2[£(22) + £(2.40) +-- - + £(38)] + F(4)} ~ 1.925444

() Mio = L[£(2.1) + £(2.3) + F(2.5) +--- + F(3.9)] ~ 1.920015

(c) S0 = [ f(2)+47(22) +2f(24)+---+2F(36) + 4f(3. 8}+f(i}] = 1922470
z° el 1 ) =1 . . = )
1. pea 5;:;1‘01‘9:1:1[1:00}.[ ?do:lscomrergentby{?_&z)mthp=2}I.Therefore,ﬁ 2d:r:15

convergent by the Comparison Theorem.



